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FF5 REIRAL REFS
1 Tk X ArA 00084
2 ki Az A 00241
3 Lol R ArB 00201
4 ki fiB 00237
5 kX ArB 00255
6 ki frB 00117
7 Ll ArB 00246
8 ki frB 00454
9 R4 DA 00426
10 ki frB 00027
11 Tk i ArB 00233
12 ki frB 00194
13 Tl R ArB 00175
14 ki frB 00121
15 kX ArB 00325
16 ki frB 00540
17 k= ArB 00067

18 LR T 00492
19 CREE N 00170
20 LR T 00018
21 CROE ML 00421
22 LR T 00344
23 CROE N 00109
24 LR T 00334
25 CREE MK 00011




FFs REIRAL REFS
26 CREE TN 00020
27 LR BT 00218
28 CREE ML 00256
29 LR BT 00047
30 CREE TN 00085
31 CREE N 00106
32 CREE PN 00272
33 LR BT 00493
34 CREE P 00182
35 LR TR 00291
36 CREE TN 00195
37 LR 00198
38 CROE ML 00277
39 LR BT 00049
40 CROE N 00010
41 LR T 00308




